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PAPER-I

POPULATION STUDIES

Signature and Name of Invigilator

1. (Signature) OMR Sheet NO. : .o,
(Name) (To be filled by the Candidate)

2. (Signature) Roll No.
(Name) (In figures as per admission card)

Time : 1 %, hours]

Em 1 3 Roll No.

(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your roll number in the space provided on the top of | 1.
this page. 2.

2. This paper consists of fifty multiple-choice type of questions. | 3.

3. At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the

paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.

(if) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be
given.

(iii) After this verification is over, the OMR Sheet Number | 4.
should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the circle as indicated below on
the correct response against each item.

Example:@ . @ 5.

where (C) is the correct response.

5. Your responses to the items are to be indicated in the OMR

Sheet given inside the Paper | Booklet only. If you mark

atany place other than in the circle in the OMR Sheet, itwill |

not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or put

any mark on any part of the OMR Sheet, except for the space

allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means such as change of response by scratching or using

white fluid, you will render yourself liable to disqualification. | 9-

9. You have to return the test question booklet and Original
OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. You are, however, allowed to carry duplicate

© N
N

copy of OMR Sheet on conclusion of examination. 10.
10. Use only Blue/Black Ball point pen. 11.
11. Use of any calculator or log table etc., is prohibited.
12. There is no negative marks for incorrect answers. 12

13. In case of any discrepancy in the English and Hindi versions, | 13
English version will be taken as final.
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POPULATION STUDIES

questions are compulsory.

Some salient features of a census are _ )
1. Selectivity 4. Which one of the following possess
2. Simultaneity dual recording system of vital events ?
3. Universality (A) NSS (B) NFHS
4. Periodicity (C) SRS (D) Census
Find out the correct combination of
answer according to the code :
Codes : 5. Which one of the following is not
(A) 1,2 and 3 are correct. matched correctly ?
(B) 2,3 and 4 are correct. (A) Stable B
(C) 1,3and 4 are correct. Population - f € ™p@m(a)da=1
(D) 1,2 and 4 are correct. Theory g
(B) f\\A - P.P,

Assertion (A) : Coverage of vital Mggdr:I 'on 12

registration in India is low. -
Reason (R) : Substantial population (€) Ferility —  2M,

of India is illiterate and rural Analysis -0, =57 M,

based. _ t

. — I

Codes : (D) Eop_ula;t_lon 1P =Pge
(A) Both (A) and (R) are correct rojection

and (R) is the correct

explanation of (A). 6.  Which one of the following methods
(B) Both (A) and (R) are correct, of population projection requires age-

but (R) is not the correct specific fertility rates ?

explanation of (A). A) G Method
(©) (A)is true, but (R) is false. (A)  Gompertz Metho
(D) (A) is false, but (R) is true. (B) Component Method

(C) Exponential Population Growth

With regard to Indian Census, which Method
one is correctly matched ? (D) Balancing Equation Method
(A) CensusofiIndia : 1948

Act
(B) Startof dejure : 1931 7. The interval between survey point

method of and last birth is called

Census taking (A) First Birth interval
©) ORfe];%r;T%e?ths ' 53319 (B) Interlive birth interval
(D) Startof Census : 1881 (C) Open birth interval

taking (D) Forward birth interval

Paper — 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




STHEET AT

agas — ||
W =0 U | Te (50) T-fahedid T § | e IR Al (2) 3 € | @t IR ST ¥

STTOMT o 5 T foeod € 4, Fifed § 9 fREel Usia S99
1. AT AT i edt RepieT el ¢ 2
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10.

11.

Myer’s blended population index is
used to correct :

(A) digit preference in age data

(B) sex-ratio

(C) growth rate

(D) migration rate

Which one is not matched correctly ?

(A) CBR A measure of
fertility

: A measure of
mortality

. A measure of
migration

A measure of
population
growth

(B) IMR
(C) SMAM

(D) NRR

Dubling time of a population for a
given growth rate (r) is
() t=198

_2loge
(B) t=—

log e
2r

loge 2
r

C) t=

(D) t=

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R) :

Assertion (A) : Kerala is the only
State in India with sex ratio in
favour of female.

Reason (R) : Gender bias is low in
Kerala.

In the context of the two statements,

which one of the following is correct ?

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A) istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Paper-11
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12.

13.

14.

15.

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R) :
Assertion (A) : Mizoram has the
highest female work
participation in India.

Reason (R) : Increasing levels of
female literacy facilitate their
gainful employment.

In the context of the two statements,

which one of the following is correct ?

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(C) (A) istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Distribution of population in India is

(A) peripheral to the peninsular plateau

(B) tending to be uniform

(C) highly scattered all over the
country

(D) concentrated mainly in urban
centres

Spatial redistribution of population
by the Central or State Governments
is called

(A) Spontaneous migration

(B) Impelled migration

(C) Transmigration

(D) Restricted migration

Given below are two statements, one

labelled as Assertion (A) and the

other is labelled as Reason (R) :

Assertion (A) Punjab has the
highest percent obese women
in the age group 15-49.

Reason (R) :Female  work
participation rate is relatively
low in Punjab.

In the context of the two statements,

which one of the following is correct ?

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

D-15-13
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8. WRR & fafya e ushic Sl SuanT 12.

fopam T &

(A) g T Al | 3 AR
(fefste i) =t w8t & & o

(B) fomT-3rurd Wel A & ford

(C) 3hg T T FA & o

(D) oA T Wl A F o1

9. HF W1 W YA &l § ?
(A) TR : USHA &TTaT FH HT
(B) SMEUHAAR. : Tg X H AW
(C) UHUATTA. : W & a9
(D) TASRAR, : SHEEA ghg & 7T

10. WS gig X (1) % ford S & g

AR 13.

() =28
@ =52
©) t:'—ozgr—e 14
log,2
(D) t=—
11. &9 3 e f§3 T €, U o ST
(A) 3T T BT qF (R) T A1 241 10 15
T '
AMMHYT (A) : 9RA H FHaA HA A
e ¢ el forT arare fert o ver
qE |
% (R) (R B fom g
e L

ST 31 HUAT b G H, Hiha 7 F

I | TETE 2

BT

(A) (A) 3T (R) T @& € 3R (R),
(A) FT T& T ¢ |

(B) (A) #R (R) sl W@l & W= (R),
(A) T TE TEHIT T T |

(C) (A)TH & W< (R) AT |

(D) (A) 3@ T, W (R)TAE |

T < A T TR, U BT ST (A)

3R T 1 % (R) 1 9 fezn T g

At (A) : 9Rd § S=Id9 Afee
T FEIRT ST RA | © |

% (R) : AfgeTeT i WIERAT
FEAT g3 TR 3% TR ST
T GAY T E |

IFT & FA F GeW H, iR # 9

DI T TS E 2

A

(A) (A) ¥R (R) 3Hi 909 € 31 (R),
(A) 1 HEl TR E |

(B) (A) &R (R) 31 & € 7] (R),
(A) FT TET TTLIHT FéT & |

(C) (A)TT & W< (R) STAT |

(D) (A) ¢, W (R)TFE |

ORA H STHEET 1 i

(A) VRO Y8R § uidE ¥ |

(B) UHEY (WHEY) € il AR TG € |
(C) T9E IV H 7T ol g7 & |
(D) T TRIT H51 § Hi5a € |

. S I T WERT §NT SHEEAT &

T faaR0T et € |
(A) TA:TFT (TEST) T

A 31 e 19 T §, U R S (A)

3R T &l dh (R) &1 9 e mn g

AfHYT (A) :TE T 1549 T F
Mg o # Wl fEEt w ot
3feeham € |

& (R) 1 = T = -
TR X oI & § F € 1

3F I FUA F GeY H, it # 9

I T TET T 2

FIS:

(A) (A) 3R (R) I ¥ & &R (R),
(A) T TE TLFT |

(B) (A) 3R (R) Tl & &, W] (R),
(A) T TE TEHIT T & |

(C) (A)FEE W< (R)ITAT |

(D) (A) @ e, W (R)TAT |
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16.

17.

18.

19.

In a population GRR will be equal to

NRR if

(A) Population growth rate is zero

(B) No mortality

(C) Population [ at the
replacement level

(D) Population is
migration

closed to

The following are the sets of

framework for fertility analysis given

by Davis and Blake :
Factors that affect exposure to
intercourse

2.  Factors that affect exposure to
menopause

3. Factors that affect exposure to
conception

4.  Factors that affect exposure to
gestation

Find the correct combination of

answer as per code given below :

Codes :

(A) 1,2 and 3 are correct.

(B) 2,3 and 4 are correct.

(C) 1, 3and 4 are correct.

(D) 1,2 and 4 are correct.

For computation of General Marital

Fertility = Rate (GMFR), the

denominator is taken as

(A) All the currently married
females

(B) Ever married females in the
reproductive age-group

(C) All the female population in the
reproductive age group

(D) Currently  married female
population in the reproductive
age-group

Following are  important in
determining the level of fertility of a
country :

1.  Age at marriage

2. Ageing

3. Level of fecundability

4.  Use of contraceptives

Find out the correct combination of
answer according to the code :

Codes :

(A) 1,2 and 3 are correct.

(B) 1, 3and 4 are correct.

(C) 1, 2and 4 are correct.

(D) 2, 3and 4 are correct.

Paper-11
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20.

21.

22.

23.

24,

Assertion (A) : Rural fertility is
higher than urban fertility.
Reason (R) : Population density in
urban area is higher than in

rural areas.

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

If death rate of a stationary
population is 10 per thousand, then
its life expectancy would be

(A) 10 years

(B) 50 years

(C) T75years

(D) 100 years

One of the goals of National
Population Policy — 2000 was to
bring down the infant mortality rate
as below :

(A) 15/per 1000 live births

(B) 20/per 1000 live births

(C) 25/per 1000 live births

(D) 30/per 1000 live births

Which one of the following has the

highest expectation of life for
females ?

(A) USA (B) UK

(C) Japan (D) Australia

Assertion (A) : Proportion of elderly
population aged 60 and above
in the world is increasing.

Reason (R) There is general
improvement in the living
conditions of the people.

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

D-15-13
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16.

SHEET B OSSR, UH.3R.AR. &
TS E AT

(A) SFEET g T IAE |

(B) W JI-HE&A el ¢ |

(C) STEEAT UqedT TR W& |

(D) SHEEA Yo Ufaetad ¥ |

4., Al w om@Eftedfd w wIad
FH a1t B

T 58 @i S T ¥ ST B FE

e [ T

A

(A) 1,233 TE |

(B) 2,33R4TAT |

(C) 1,33M4TE |

(D) 1,23R4TE |

T Jaesh PEEER] T

(ST UH.U%, 3TR.) &l SO & o & &

w9 H forar S €

(A) T § T foeted et

(B) SHASNT omg-eRl Wb S off
Toantea fermt

(C) SH-IRTeT ST-aT § o Higemsit
= STTEET

(D) SHTRN oMg-a ® W WEd
foranted Afecttat @ e

I B TS AT B &R EiRd

A f=Aifehd Hewaol €

1. foam & 99a oy

2. FAgHEd

3. TEYEd ST &R

gﬁggﬁﬁﬁwgﬂww
TEEdl W I H Gl Y=

A BT

T

(A) 1,2 33T |

(B) 1,334TE |

(C) 1,23R4TWT |

(D) 2,33N4TEAT |
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20.

21.

22.

23.

24,

AFHHYT (A) : &L USHFAT Bt T |
TTEOT IS AT Bl € |

& (R) S UTHOT A W qor |
YR &R H STHEE B A T

(A) (A) 3R (R) I 9 € &R (R),
(A) T TE T E |

(B) (A) iR (R) Tl & &, W] (R),
(A) T TE TEHIT T T |

(C) (A)T= & R (R) AT |

(D) (A) ¢, W (R)TFE |

AT TR A& H o I U &R
10 &, T SHe! ST Fearem gne

(A) 1039

(B) 50 a9

(C) 75@d

(D) 100 a9

UL SHEET AT — 2000 HT TH AT
TOT9] Yo ST ol TWek el T o
(A) 15mfa 1000 Stifare S sred
(B) 20mfa 1000 Stifere S= sredt
(C) 25mfa 1000 Sfifare S sred
(D) 30mfa 1000 Stifere S sred

o & o8 Ssaq Sed v

friferd & 9 T O1E STt & 2
(A) FTET, (B) I
(C) <M= (D) eFrfern

AfBeA (A) : 60 TT R 3 Mg
H TIEH STAGEAT HT S ava
g @E |

& (R) A % EA-TET @
Teaferl & =T QUR gen € |

(A) (A) ¥R (R) THi Wl & 3R (R),
(A) FT el T T |

(B) (A) 3R (R) 3 w&l & 7] (R),
(A) FT TET TTLIHT Tél & |

(C) (A)TH & R (R) AT |

(D) (A)IWAE, R (R)TAT |



25. Assertion (A) : Longevity of persons

26.

27.

28.

in developing countries is low
at birth.

Reason (R) : Fertility is high in
developing countries.

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Match the following :

List—1 List— 11
a. K. Zipf i. Theory of
Growth Poles
b. Perroux ii. Theory of
Optimum
Population
c. W.J. Reilly iii. Rank-size Rule
d. Carr- iv. Gravity Model
Saunder
Codes :
a b C d
(A) i iv i i
(B) i T iv
(C) i i iv i
(D) ii i iv
Concept of Nested Hierarchy in
Spatial  Organisation of human

settlements was formulated by
(A) R.E. Dickenson

(B) Brian Berry

(C) A.K. Pnhilbrick

(D) Norton Ginsberg

Which one of the following values in
the concept of Nearest Neighbour
Analysis  reflects the tendency
towards uniform distribution of
human settlements ?

(A) 0.9

(B) 12

(©) 19

(D) 0.2

Latest Sarkari Jobs, Govt Exam Results
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29.

30.

31.

32.

Which one of the following is a
direct measure of migration ?

(A) Balancing Equation Method
(B) Place of Birth Method
(C) Survival Ratio Method

(D) National Population Growth
Method

Which one of the following is not
associated with migration studies ?

(A) Bogue

(B) Lee

(C) Ravenstein
(D) Stouffer

Who among the following authors is
associated with the Theory of
Demographic Transition ?

(A) Thompson
(B) Landry
(C) Zelinsky
(D) Notestein

Match the following :

List—1 List— 11
(Measures) (Persons)

a. Singulate mean i. Gompertz
age at marriage

b. Theory of ii. Graceille
Population

c. Abridged Life iii. Malthus
Table

d. Stable Population iv. Hajnal
Theory

v. Coale

Find the correct combination as per
code given below :

Codes :

a b c d
(A) iv i i v
(B) ii v iv i
C) v i i v
D) i ii i



25.

afirmem (A) : fapmeicr 3o o
Tl N SGHA ST o T
FHEAAE |

% (R) : fosprasiier <90 o U
&TAT 2 & |

(A) (A) &R (R) 3H1 w&l € 3R (R),
(A) FT et T T |

(B) (A) ¥R (R) sl @l €, T (R),
(A) T TET TR F&T & |

(C) (A)TT & W (R) STAT |

(D) (A) 3@ T, W (R)TAE |

fereifeRe ohT fHoTT ShifSTT -

= - | = - 1
a. & % i, ada-ya fagr
b. & ii. A SHEE
g
C. TS Ll iii. Son-3meR fam
d. HEEET  iv. & A
S
a b c d
(A i iv i
B|) i i Qi v
©) @i i v i
©O) i Qi i v
. AFe S % @ieh Gie | Aited
T (TI5RH) I STTEROM HiadTed i
(A) #RE. fehaaa A
(B) smEE SO
(C) U, herferem =
(D) e fSoraent 3
pataiisior G o) s -2 A o Lo O
TYROT § FAifeha Heal § & I 4T
e aiddl & THEY faavor & 3T
TG Fehe LAl & 2
(A) 0.9
(B) 12
(C) 19
(D) 0.2
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29.

30.

31.

32.

e § | A W YTET T UaeT
T & 2

(A) HdleT THIHIOT G5l

(B) ST T T Ugid

(C) STRSHfadT U Uz

(D) TR SEE ghg s

fr=ifha & ¥ B9 YoEd orAdei |
T el € 2

(A) S

(B) i

(C) w==H

(D) ww

frifhd o@shl § © HiT SHihHE

THAYT FaET § T € 2
(A) g
(B) g
(C) STt
(D) He=m
e =t gAfAd AT
e - | =t - 11
(vma) (=af)
a fEEFTITHA Q. T
ot HF ST 3G
b. SHEE & SR Qi ORI
c. WiIwt Siia= afetd i, Toa™
d. feR sHEeEn e v, &
V. it
= I ®iE w T 9 T gy
WW:

S

a b c d
(A) v i i v
(B) ii v iv i
C) v i i v
(D) i ii iv



33.

34.

35.

36.

Which one of the following is not true
in case of stable population theory ?

(A) NRR=¢T
(B) b:d:eio(ifr:O)
0

(C) c(at)=c(a
(D) NRR =GRR

Assertion (A) : India’s birth rate is
declining and death rate has
declined rapidly.

Reason (R) : India has entered into
the third phase of demographic
transition.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Who has given the statements “

food is necessary to the existence of

man” and “the passion between sexes
is necessary and will remain in its
present state.” ?

(A) Garrett Hardin

(B) T.R. Malthus

(C) Karl Marx

(D) J.S. Mill

Assertion (A) : The temperature in
most of the metropolitan cities
is increasing alarmingly.

Reason (R) Green Dbelt is
decreasing in urban areas.

Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Paper-11
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37.

38.

39.

40.

Match the following List — | with
List—11:

List—1 List— 11

a. Relationship i. CR.
between Darwin
deprivation and
revolution

b. Basic-nonbasic ii. Leibenstein
concept of
urban economic
functions.

c. Theoriginof iii. T.C. Davies
species

d. Theory of iv. JW.
Economic Alexander
demographic
development

Codes :
a b c d

(A) i i iv

(B) iii v i ii

C) i i i v

(D) iv i i iii

Which one of the following

sequences is in correct descending
order based on Human Development
Index ?

(A) Punjab, Himachal Pradesh,
Haryana, Gujarat.

(B) Himachal Pradesh, Punjab,
Haryana, Gujarat.

(C) Haryana, Gujarat, Punjab,
Himachal Pradesh.

(D) Gujarat, Haryana, Himachal

Pradesh, Punjab.

The interval between menarche and
attainment of full biological maturity is
(A) primary sterility

(B) Adolescent sterility

(C) Secondary sterility

(D) Menopause

In population above the age of 7
years, when compared to males,
female literacy rate in India in 2011
is lower by

(A) less than 5 points

(B) 6 to 10 points

(C) 11to 15 points

(D) 16 to 20 points

D-15-13

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click



33. fifhd H @ B O WE SHEET 37. f=AiteRa gEt - | 1 gE - || 9 e
TogT= & Aot § 9T el § 9 HrT -
(A) TAIARIAR, =¢e'T -1 o=l - 11
1 a. IME @9) AT i WAW
(B) b=d="¢ @< r=0) ST & ol zifer
0
() clat)=c@) o, e i T
(D) TA.IR3N, = T3 3R, | e '
34. iU (A) ; 9IRA H S T IR @l %gﬁ;ﬂ
& S G AT A FA AT | c. ST IET™ il S
& (R) : ORT STHITRHE  FshHT 3
& TR A H S d. enfaes SHifeRE v, S g%,
WS faepra =1 faaTa TeTeRTEY
(A) (A) 3R (R) I ¥ € &R (R), EaE
(A)Wﬁmm%l a b C d
(B) (A) 3R (R) 3H1 ¥ &, =] (R), (A i i i v
(A) T TEl THT e ¥ | (B) i ivoi i
(©) (A)F & WA (R) &S T | © i i v
D) (A) oG %, == (R) T & | ) v b i
38. Tq=ifha oFshAT H W HF 9@ OEg
35. I% fhae ®oF €, “ATE & AT & :
fordr Aie eTaves &7 Y “Ioy ue i 1:_??%1; ST el STl
?WW@TW%@TWM (A) W,WW,E‘F@W,W
A feafr 5 e 172 (B) fewmeret wew, toTme, B, TS
(A) Wz eeT (C) &Ramm, ToR, TS, femeret weer
(B) Zrem. Hou (D) TR, eRamn, fenreet wRw, Goe
(C) et AT
(D) Siwd. fet 39. oW TR 3R ol Sferes aftwseer &
e SR &
36. ATWHUA (A) : UHT TIRT I (A) WA SR
T A9 Tt oISt ° 9 @ (B) foreIRIare aweaa
T (C) Tocirares s
% (R) : Tt & H BRa ugt | (D) gl
TWE |
HIE 40. 9RG H 2011 H 9 99 H FW H
(A) (A) R (R) i ¥ € 3R (R), S H qes ® qer § fed
(A) T TE TLFT E | TTeRAT T FH &
(B) (A) 3R (R) 3F ¥ &, =] (R), (A) 5 faget =
(A) T TE TSR T € | (B) 6 10 faget & arwr
(C) (A)TH & W< (R) AT | (C) 11915 fagei
(D) (A)FFE T, W (R) TAE | (D) 16 ¥ 20 fageni & &g
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41.

42.

43.

b. Recent National ii. 1976
Population Policy of
India
c. NF-HS-Il iii. 1999
d. Child Marriage iv. 2000
Restraint Act
v. 2005-06
Codes :
a b c d
(A) iii v v i
(B) iv i i %
C) v i ii iii
(D) ii v i v
Paper-11

Assertion (A) : Replacement level in
India is getting delayed.

Reason (R) : Gender preference is
prevalent in India.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Assertion (A) : Longevity of females
in Japan is the highest.

Reason (R) : Divorce rate is the
highest in Japan among
developed countries.

Codes :

(A) Both (A) and (R) are correct and (R)

is the correct explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

This consists of two lists of
statements, terms or symbols and the
candidate has to match an item in one
list with an item in the other :
List-1 List =11
a. Six billion population i. 1974
of the world

12

44.  Which one of the following is not a
spacing method of family planning ?
(A) Barrier Method
(B) Hormonal Method
(C) Vasectomy
(D) Intra-uterine Device (IUD)

45.  World Population Plan of Action was
adopted at the United Nations World
Population Conference held at
(A) Bucharest 1974
(B) Mexico 1984
(C) Belgrade 1965
(D) Cairo 1994

Read the passage below and answer the
questions that follow, based on your
understanding of the passage :

The definitions of Population Policy are

numerous and varied. To cite some

examples :

® A deliberate effort by a national
Government to influence the three
demographic variables : fertility,
mortality and migration.

° A set of coordinated laws aimed at
reaching some demographic goals.

° Direct and indirect measures,
formulated by the whole range of
social institutions, including
Government, which whether intended
or not, may influence the size,
distribution or composition of human
population.

In defining “population policy”, it is
useful to distinguish  between
“explicit” and “implicit” policies. An
“explicit” policy is a statement or a
document by a national Government
announcing its intention or plan to
affect the country’s population
growth and perhaps its distribution
and/or composition as well. Explicit
population policies have been issued
in a variety of forms, including

legislation; documents by
Governmental ministries and
commissions, sections of
development plans, policy

declaration of a ruling party,
statements by the nation’s President
or other high level officials.

D-15-13
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41.

ANfUFHYA (A) : TRT | U I T
e A foerE g @ E |

& (R) fom efm awma H
T E |

HE

(A) (A) &R (R) 3H1 W&l & 3R (R),
(A) T TE T E |

(B) (A) ¥R (R) sl W@l & W= (R),
(A) T TE TEHIT T & |

(C) (A)T=T & W< (R) AT |

(D) (A) 3¢, W (R)TAE |

Ao (A) : STU= | ot &t oy
A AT ¢ |

& (R) : faeptaa e ® | SUH
T T i 3T 3MUHaT & |

e

(A) (A) ¥R (R) IH Wl & 3R (R),
(A) FT el T T |

(B) (A) #R (R) =i Wl € W (R),
(A) FT TET TLIHT Fél & |

(C) (A)TE T, W< (R) ST E |

(D) (A) T §, W (R) T T |

. e, S A fee W A et ©

AR el & gl § S WS Wl
gI-11 § <t A % T GAHfoAT BT &
e - | =t - 11

a. fva =t © = i. 1974
SGET

b. yRd @ a9 ii. 1976
LT STAHEAT it

C. TAUETATH-II iii. 1999

d. s foawe =9 iv. 2000

v. 2005-06
HE
a b ¢ d
(A) iii v v i
(B) iv i i Vv
©C) v i i iii
(D) ii i v

44, TEIRT § F A IRAR FESE W
3T (ST UgTa Tal ¢ 2
(A) g uga
(B) @M TS
(C) T&d el
(D) RS

45, fova SHUEN HE ASHT FRl W G
e fove SHEE g ° 3R TE
off 2
(A) TFR 1974
(B) Hfraeht 1984
(C) detE 1965
(D) IR 1994

e feu =S i died 3 ST THE RN

T ol ST ST

S ifd ® e AR fafoy aRamd €

3IMEXT o AR W :

e T SHIfRH =R : USTHA &THAT, T 3T
31 WerG ol Wfad e o o U

TR A G Jam

® T SHIhHIT LAl P U FA & ot
e AT B T

¢ WX THA, TWHE [anTT G
UM, S SHEET % TR, foaRer &
T ol T9TTad S Gehd & 91 T8l o |
Fad Ud FFEd G o a3
HAT AMIS BT & | e A T
THR BT T T ST & S 9T i
SaEn gfy iR WEg SE% faeRur
3T GAISH I UAIed B F SHH
TS AT ST Sl 00T T € | e
S At ot ' o7 SR
STt € S8 o HE,; WA A
% TN, MG H & S Bl AT
HIYOT, L & LU AT 3T o T
FHARET FRT STRT {62 aekieT |
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46.

In some cases, policies set specific
demographic targets, such as reacting
a certain level of fertility or mortality
by a specific year.

In contrast “implicit” policies are
those laws, regulations and other
directives  which, although not
necessarily issued for the purpose of
affecting population growth,
distribution or composition, have the
affect of doing so. By aggregating
the impact of those policies that

influence population growth,
distribution and composition directly
and indirectly, one could

theoretically arrive at a conclusion
about a country’s implicit population
policy. In this way, one examines
what a country “does” not merely
what it “says”.

It is often very difficult to uncover a
country’s implicit policy. First, with
few exceptions, policies are not
generally coordinated to reach a
common population goal. Second,
most  social and economic
development policies (e.g. education,
health, income, housing) are thought
to influence fertility indirectly,
measurement of all these policies for
their effect on population dynamics
can be very complex and
cumbersome. Third, the net impact of
policies often is not known for many
years — if it is known at all.

Which one of the following does not

form part of the Explicit Population

Policy ?

(A) Legislation

(B) Development Plans

(C) Declaration by Political Parties

(D) Statement by Nation’s
President.

47.

48.

49.

50.

Paper-11

14

Which one of the following is not a
part of the implicit population
policies ?

(A) Targets
(B) Education
(C) Health
(D) Income

In the passage, population policies
are aimed at influencing

I.  Fertility, mortality and
migration

I[l. Size and distribution of
population

I1l. Composition of Population
Which one of the following is correct ?

(A) landll
(B) landlll
(C) Handlll
(D) 1, 1land Il

Which one of the following is
synonymous in the passage ?

(A) Explicit and Target
(B) Explicit and Population Growth
(C) Implicit and Indirect measures

(D) Implicit and declaration by
Nation’s President

The tone of the passage can be
described as

(A) Analytical and optimistic
(B) Biased and unprofessional
(C) Critical and pessimistic
(D) Tentative and inconclusive

D-15-13
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Fo fefqa #, it fafme sHifwaa
e Ffvad et € 59 o ue o o
T T To9Iy TR St USTH &THdT A1 g
T T U HT |

Toh fauiid, e Afqdl 9% A,
fafam ok e € St Fefu S
gheg, TIaROT a1 WA i qIferT A o
T § AHAET; SR Y S g,
TR U1 ST Bl & | 3 Al b, S
SEEN ghg, fomor R HEeE W
Tt T ST T H I Rl €
T ¥k 9T o ST SHEEAT =i
% a8 # dgiaw Freed e o
THAT ¢ | 36 TE §, T A1 1 Al R
I ST T & o A9 T R 8 #R
ok =&} T2 fob o = “FRar 27 |

AW W e Ad W A HET
3R TEd P el & | Teel, TS
JUART I DI H, TEEIET, A
GG SHEE T dh UgaH & o
e A # 1 g, e e
fop atfssier w37 anfes forera
) TS &l i ST ®9 §
YT hil & SEEAT i TedTeHehdl
W IAH TE H @ & ol T
Hiferat =1 A SE Sieer 3R goRA 8
THAT & | A, St 1 5 7, q
A ot T forar S €, TR aigd
& aI% 0 FEl & WA |

e S Aq v et °
qHT G TN ?

(A) =

(B) faehm FisHR

(C) ToHfaes et gRT =eom

(D) T % AU §RT kT

47.

48.

49.

50.
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F=iferd O § S W STTed SHEE
iferat =1 feeqn @t & 2

(A) ==

(B) feram

(C) w@remg

(D) 3

TRes H, SHEET Hifdd e 5
eIfad o 1 ?

| TS &, G ST SR WSt
[I. STEE 1 SR AR e
I, SFEE % G
TAifeha & | 9 |1 WE € 2

(A) 13l

(B) &R

(C) 1wl

(D) 1, 1131

fr=ifepa & 9 *i9 a1 u==T § gEmEef
g
(A) =R 3R e

(B) =T 3R U gia
(C) 37ema 3T weaey SU

=IO

UREST & W Pl TH TE e R T
Hehell &

(A) foeeoTe 3R SRRt
(B) oIS 3R STAEHIIH
(C) fodmmreae 3k FRTemaTar
(D) VAT (37dH) 3R 0T
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